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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
) 6,009 2) 2,003 3) 2,006 4 5,006
- 971 -1,261 - 920 -_2,496 5
3.
4.
5 6,003 6 3,008 7 3,009 8 1,007 >
- 5,839 - 86 - 451 - 934 6
7.
8.
9 7,008 10) 3,003 11) 6,008 12) 1,001 9.
-3,616 - 187 -4 525 - 708
E— EE— —_— — 10.
11.
12.
13) 2,009 14) 4,008 15) 4,002 16) 6,004 13,
-1,968 -1,852 - 3,694 - 3,319
S S S o 14.
15.
16.
17) 4,003 18) 6,006 19) 3,008 200 7.001 17
- 264 -5,697 -2,565 -_6,726
18.
10.
20.
1-10 [95]90[85[80[75] 70] 65] 6055 [ 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 5,038
1) 6,009 2 2.003 3 2.006 4 5006
- 971 -1,261 - 920 - 2,496 ” 742
5 038 742 1,086 2 510
3 1,086
4 2510
5 6,003 6 3.008 7 3,009 8 1,007 > 164
- 5,839 - 86 - 451 - 934 6 2922
164 2 922 2 558 73
. 2 558
8 73
9 7.008 100 3,003 1) 6.008 12) 1,001 o. _ 3,392
-3.616 . 187 - 4.525 - 708 ) 816
3.392 2816 1,483 293 10 :
1 1483
12 293
13) 2 009 14)  4.008 15  4.002 16) 6,004 13 41
- 1,968 -1,852 -3.694 - 3,319
41 2 156 308 2 685 . 2,156
15, 308
16. 2,685
17) 4,003 18) 6,006 19 3,008 20) 7,001 7 3739
- 264 -5.697 - 2.565 - 6,726
3,739 309 443 275 18, 309
19, 443
20, 275
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
2,922 73 1,483 164
1,086 2,510 2,558 2,816 1.
742 5,038 293 3,392
2,
1) 6,009 2 2,003 3 2,006 3
- 971 -1,261 - 920
- - - 4.
5.
6.
7.
4 5,006 5 6,003 6) 3,008
- 2,496 - 5,839 - 86 8.
9.
10.
11.
) 3,009 8 1,007 9 7,008 12
- 451 - 934 - 3,616
100 3,003 1) 6,008 12) 1,001
- 187 -4,525 - 708
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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